
Exercice : 
Voici un dessin de définition. Interprétez les 2 spécifications entourées.  
 
 

 
 
 
 
 



 

 

Interprétation littérale : 
……………………………………………………………………………………………………………………………………………………………………………………………………………………………….. 
……………………………………………………………………………………………………………………………………………………………………………………………………………………………….. 
……………………………………………………………………………………………………………………………………………………………………………………………………………………………….. 
 

 



 

 

Interprétation littérale : 
……………………………………………………………………………………………………………………………………………………………………………………………………………………………….. 
……………………………………………………………………………………………………………………………………………………………………………………………………………………………….. 
……………………………………………………………………………………………………………………………………………………………………………………………………………………………….. 
 

 



 


